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Question Number : 1 Question Id : 87827045601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sickle-cell anemia is a disease charactarised by the patient's erythrocyte, having a characteristic sickle or crescent shape
Select the correct statement about the disease -

1. Deletion of glutamic acid from the 6th position of -chain
2. Substitution of hydrophabic residue by a polar one

3. Substition of polar residue by a hydrophabic one.

4. Substitution of valine residue by a glutamic acid one.

Options :

878270179241. 1
878270179242. 2
878270179243. 3

878270179244. 4

Question Number : 1 Question Id : 87827045601 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179241. 1
878270179242. 2
878270179243. 3

878270179244. 4

Question Number : 2 Question Id : 87827045602 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

(Amino Acid) (pK value)
(A). a-Carboxyl groups (.186-29

(B). a-Amino groups (I1). 8.6-108

(C). Acidic Amino Acid - Asp |(lll). 12.5

(D). Basic Amino Acid - Arg |(IV). 3.9

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270179245. 1
878270179246. 2
878270179247. 3
878270179248. 4

Question Number : 2 Question Id : 87827045602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(efirT arw) (p KOH)
(A) a-PTaloET THE (N1.8-29
(B) a-HH FE (1) 8.8 -10.8
(C) SHFita TFFAT fI-Asp (1) 12.5
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1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})
2. (A)- (1), (B) - (I), (C) - (IV), (D) - (1T}
3. (A) - (D), (B) - (1), (C} - (IV), (D) -(I1)
4. (A) - (), (B) - (IV), (C) - {I), (D) - (11}

Options:

878270179245. 1
878270179246. 2
878270179247.3

878270179248. 4

Question Number : 3 Question Id : 87827045603 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gluconeogenesis synthesizes glucose from noncarbohydrate precursors.
(A). The main site of gluconeogenesis is the liver.

(B). Far lesser extent of gluconeogenesis occurs in kidneys.

(C). Very little gluconeogenesis occurs in brain or muscle.

(D). The second main site of gluconeogenesis is the heart.

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (B), (C)and (D) only

Options :

878270179249. 1
878270179250. 2
878270179251. 3

878270179252. 4

Question Number : 3 Question Id : 87827045603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179249. 1
878270179250. 2
878270179251. 3

878270179252. 4

Question Number : 4 Question Id : 87827045604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-llI

(Organism) (Number of Chromosome)

(A). Fruit fly (Drosophila melanogaster) |(1). Diploid number 40

(B). Nematode (Caenorhabditis efegans)|(11). Haploid number 06

(C). Human (Homo sapiens) (111). Haploid number 23

(D). Mouse (Mus musculus) (IV). Diploid number 08

Choose the correct answer from the options given below:

1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (I, (B) - (IV), (C) - (lIn), (D) - (1)

3. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270179253. 1
878270179254. 2
878270179255. 3

878270179256. 4

Question Number : 4 Question Id : 87827045604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
3. (A) - (IV), (B) - (IN), (C) - (1), (D) - (1)
4. (A) - (1), (B) - (IV), (C) - (I}, (D) - (11}

Options:

878270179253. 1
878270179254. 2
878270179255. 3

878270179256. 4

Question Number : 5 Question Id : 87827045605 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



People with hemophilia are unable to produce a factor needed for blood clotting; the cuts, bruises, and wounds of
hemophiliacs continue to bleed and, if not stopped by transfusion with clotting factor, can cause death.

Select the correct statement about the hemophilia -

(A). The principal type of hemophilia in humans is due to a recessive X-linked mutation.
(B). These males have inherited the mutation from their heterozygous mothers.

(C). Affected males never transmit the mutant allele to their sons.

(D). Nearly all the individuals who have hemophilia are male.

Choose the correct answer from the options given below:

1.(A)
2.(A),
3.(A),
4.(B),

B) and (D) only.
B) and (C) only.
B), (C)and (D).
C)and (D) only
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Options :

878270179257. 1
878270179258. 2
878270179259. 3
878270179260. 4

Question Number : 5 Question Id : 87827045605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179257. 1
878270179258. 2
878270179259. 3

878270179260. 4

Question Number : 6 Question Id : 87827045606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Read the following structure which is a combination of:

Clinical Syndrome : Karyotype : Chromosome Formula : Estimated Frequency at Birth
(A). Down Syndrome : 47, +13 : 2n+1 : 1/20,000

(B). Patau Syndrome : 47, +21 : 2n+1: 1/2,000

(C). Edward Syndrome : 47, +18 : 2n+1: 1/8000

(D). Klinfelter Syndrome : 47, XXY : 2n+1 : 1/500 male births

Choose the correct answer for the above statements from the options given below:

1.(A),
2.(C)
3. (A),
4. (B),

(B) and (D) only.
and (D) only.

(B), (C)and (D).
(C) and (D) only

Options :

878270179261. 1
878270179262. 2
878270179263. 3

878270179264. 4

Question Number : 6 Question Id : 87827045606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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(D) [t eex fSH: 47, XXY - 2n + 1 - 1/500 TR S
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1.@ad (A), (B) 3R (D)
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3. (A), (B), (C) 3R (D)
4. @dd (B), (C) 3R (D)

Options :

878270179261. 1
878270179262. 2
878270179263. 3

878270179264. 4

Question Number : 7 Question Id : 87827045607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

Enzyme

Type of reaction catalyzed

(A). Alcohol Dehydrogenase

(B). Trypsin

(11). Transfer of electrons

(C). Hexokinase

(111). Hydrolysis reactions

(D). Pyruvate carboxylase

(V). Transfer of functional groups

Choose the correct answer from the options given below:

1. (A) -

(1), (B) -
2. (A)-(
(
(

), (B) -
i), (B) -
i), (B) -

(1), (C) -
(i), (C} -
(1), (C) - (I
(IV), (C) -

3. (A) -
4. (A) -

Options :

878270179265. 1
878270179266. 2
878270179267.3

878270179268. 4

(11, (D) -
(11), (D) -

(., (D) -

(IV})
(IV})
V), (D) - (1)

(1)

(1). Bond formation coupled to ATP hydrolysis

Question Number : 7 Question Id : 87827045607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (1), (B) - {lI), (C) - (ln), (D} - (IV)
2. (A)-(1), (B) - (1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (M), (D) - (1)
4. (A) - (), (B) - (IV), (C) - {I), (D) - (11}
Options:

878270179265. 1
878270179266. 2
878270179267. 3

878270179268. 4

Question Number : 8 Question Id : 87827045608 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll
(Coenzyme) (Precursor)
(A). Coenzyme A (1). Vitamin B

(B). FAD, FMN

(I1). Pantothenic Acid

(C). NAD*, NADP*

(111). Vitamin B,

(D). Thiamine pyrophosphate

(IV}. Niacin

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270179269. 1
878270179270. 2
878270179271.3
878270179272. 4

Question Number : 8 Question Id : 87827045608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (), (B) - (I), (C) - (1), (D} - (IV)
2. (A) - (1), (B) - (IlN), (C) - (I, (D} - (IV)
3. (A) - (1), (B) - (li), (C) - (IV), (D) - ()
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270179269. 1
878270179270. 2
878270179271.3

878270179272. 4

Question Number : 9 Question Id : 87827045609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

(Vitamin precursor)|(Deficiency disease)

(A). Vitamin By ((1). Permnicious anemia

(B). Vitamin Bo  ((Il). Berberi

(C). Vitamin Bg  ((Ill). Growth retardation

(D). Vitamin B4z (IV). Dermatitis

Choose the correct answer from the options given below:

1. (A) - (), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (IN), (C) - (IV), (D) - (1)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270179273. 1
878270179274. 2
878270179275. 3
878270179276. 4

Question Number : 9 Question Id : 87827045609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (li), (C) - (IV), (D) - (1)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270179273. 1
878270179274. 2
878270179275.3

878270179276. 4

Question Number : 10 Question Id : 87827045610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct regarding immunoglobulin A.

(A). lgA is the main class of antibody in secretions such as tears, saliva.

(B). IgA is also found in secretions of lungs and intestine.

(C). IgAis the first line of defense against infection at these sites.

(D). IgAis the main immunoglobin in the bloodstream late in the primary immune response.
Choose the correct answer from the options given below:

1. (A),
2. (A),
3. (A),
4. (B),

B) and (D) only.
B) and (C) only.
B), (C) and (D).
C) and (D) only

e

Options :

878270179277. 1
878270179278. 2
878270179279. 3

878270179280. 4

Question Number : 10 Question Id : 87827045610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270179277. 1
878270179278. 2
878270179279. 3

878270179280. 4

Question Number : 11 Question Id : 87827045611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-I List-ll

(Pollutant) (Characteristics)

(A). Sulphur dioxide  |(1). Colourless gas with an offensive 'rotten egg' odor, slightly water soluble.

(B). Nitrogen dioxide |(Il). Colourless, heavy, water soluble gas, with a pungent order.

(C). Ozone (IIl). Reddish-brown gas, slightly water soluble.

(D). Hydrogen Sulfide |(IV). Pale-blue gas, water soluble, unstable, sweetish odor.

Choose the correct answer from the options given below:

1.(A)- (1), (B) - (IN), (C) - (IN), (D) - (IV)
2. (A)- (1), (B) - (1), (C) - (1), (D) - IV}
3. (A)-(I1), (B) - (1), (C) - (IV), (D) - (I}
4. (A)- (I, (B) - (IV), (C) - (1), (D) - (I}

Options :

878270179281. 1
878270179282. 2
878270179283. 3
878270179284. 4

Question Number : 11 Question Id : 87827045611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270179281. 1
878270179282. 2
878270179283. 3

878270179284. 4

Question Number : 12 Question Id : 87827045612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Identify the rule that suggests that the endothermic animals from cold climates tend to have shorter extremities (sars and
limbs) compared with animals from warmer climate-

1. Bergmann's rule

2 Allen's rule

3. Bottleneck effect rule
4 Survival of fittest

Options :



878270179285. 1
878270179286. 2
878270179287. 3

878270179288. 4

Question Number : 12 Question Id : 87827045612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179285. 1
878270179286. 2
878270179287. 3

878270179288. 4

Question Number : 13 Question Id : 87827045613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List- List-I

(Statistical cons

Terminology) (Definition)

(A). Median (I). The reciprocal of the average, of reciprocals, of the values, of items, of a series.

(). The value of the middle item, of series, when it is arranged in ascending or descending order of

B). Mean
o magnitude.

(). The value which we get by dividing the total, of the values of various given items in a series, by

C). Mod
(€1:Moda the total number of items.

(D). Harmonic mean ((IV). The most commonly or frequently occurring value in a series.

Choose the correct answer from the options given helow:

1.(A)-
2.(A)-
3. (A)-
4.(A)-

(), (B)- (1), (C) - (), (D) - (V)
(1), (8)- (), (C)- (V). (D) - (1)
(1), (B) - (1), (C) - (IV), [D) (1)
(1), (B)- (IV), (C) - 1), (@) - (1)

e g 7 i i
e i

Options:

878270179289. 1
878270179290. 2
878270179291. 3

878270179292. 4

Question Number : 13 Question Id : 87827045613 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



At B T 1 fore Ao

it Ll

(aifSrta e (afvura)

BEIE (1). U e & 31, FHH, A, THa! 1 5

(B) T (1) T & ] Uehep BT W, S 5 WU o RISl 5 A o fee i 2
(C) & (I T 5 & €1 75 Rt Tt & W 3 31 ) Uehh] 1 01 T § 1T s 67 o1 AT (T 31
(D) FHIM® A9 (V) T 601 A 999 9a 71 W §H e A

i feu U fowedt H € Ot S T

1.(A)- (1), (B) - (1), (C) - (I, (D) - (IV)

2. (A)-(I), (B) - (), (C) - (IV), (D) - (1)

3.(A)-(1), (B)- (), (C) - (1), (D) - (I

4. (A)-(l), (B)- (V), (C) - (1), (D) - (1)
Options :

878270179289. 1
878270179290. 2
878270179291. 3

878270179292. 4

Question Number : 14 Question Id : 87827045614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Calculate the harmonic mean of the numbers 4, 5, and 10 collected in one experiment.

1.6.83
2.545
a7
46

Options :
878270179293. 1
878270179294. 2

878270179295. 3



878270179296. 4

Question Number : 14 Question Id : 87827045614 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS O H G871 4. 5 30X 10 &1 UHh4 fhT 70 g751-d Freg bt 0 & |

1.6.83
2.545
3.7
46

Options :

878270179293. 1
878270179294. 2
878270179295. 3
878270179296. 4

Question Number : 15 Question Id : 87827045615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following are few statements with reference to Biostatistics. Choose the statement/s which are incorrect.

(A). Type Il error : a - error

(B). Type | error : - error

(C). Correct null hypothesis is rejected in f - error

(D). Wrong null hypothesis is accepted in a - error
Choose the correct option from the options given below:

(B an|}"

)and (C) only.
B) ( )and (D).
), (C) and (D) only

Options :

878270179297. 1
878270179298. 2
878270179299. 3
878270179300. 4

Question Number : 15 Question Id : 87827045615 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oid it & oY | - 7o oy RU T E, 30d oy &1 95 Sifed
(A) | TPR @1 A a - FfT
(B) ITPR & AT : p-FC

(C) T4 el RS &l § - 3 H RAPR fovar w1l 8

(D) 4 Tad IRD Bl a - 3l H WPR a1 S 8

1 U 77 fadredi & O Tel SR 3|

1.%ad (A) 3R (B)

2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)
4. @dd (B), (C) 3R (D)

Options :

878270179297. 1
878270179298. 2
878270179299. 3
878270179300. 4

Question Number : 16 Question Id : 87827045616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aiter electrophoresis, the gel containing the seperated proteins, is immersed in an acid alcoholic solution, of the dye this -
(A). Denatures the proteins

(B). fixes them in the gel

(C). ensures they do not wash out

(D). allows dye to bind them

Choose the correct answer from the options given below

1.(A), (C) and (D) only
2.(A), (B) and (C) only.
3.(A), (B),(C and (D).
4.(B), (C)and (D) only
Options :

878270179301. 1
878270179302. 2
878270179303. 3

878270179304. 4

Question Number : 16 Question Id : 87827045616 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FOIRIBRIVY B TG, S-S HIEH a1l oidt H1 U TS Teaplefoidp B A gaid o1 6, T faioid -

(A) UIEH ®1 fdgd a1

(B) I 9a A i TR &
C) T8 YRYd &l & [ @ Y 7 91
(D). {5591 &1 3% 9t B SRR ST R
d few e faded § 9 98 SR FH|
1. %ad (A) (C) 3R (D)
2%?% (B) 3R (C)
3.(A), (B), (C) R D)
4 ®ad (B), (C) IR (D)

Options :

878270179301. 1
878270179302. 2
878270179303. 3

878270179304. 4

Question Number : 17 Question Id : 87827045617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the process of protein sequencing, trypsin and chymotrpsin are used for generating fragments. Select tryptic peptide from
the list -

1. Try
2.Phe
3.Tp
4 lys

Options:
878270179305. 1

878270179306. 2



878270179307. 3

878270179308. 4

Question Number : 17 Question Id : 87827045617 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Srggpem oot e o, TR SR TRATGIEaT o1 ST S Sl e b ot oo e | el 9 el Upigs -

1. Try
2. Phe
3. Tp
4 Lys

Options:

878270179305. 1
878270179306. 2
878270179307. 3

878270179308. 4

Question Number : 18 Question Id : 87827045618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements related to transcription in bacteria/eukaryotes are correct?

(A). During concurrent promoter sequence recognition and melting, mefting commences with base flipping, where two
bases are flipped out in to pockets of the primary sigma factor.

(B). Binding of a-amanitin to RNA polymerase Il permits entry of nucleotides into RNA polymerase II, active site and
synthesis of RNA, but prevents translocation.

(C). RNA polymerase | cannot bind to upstream promoters.

(D). FACT is associated with RNA polymerase during transcriptional elongation and helps, displace one histone octomers
during franscription.

Choose the correct answer from the options given below:

Options :

878270179309. 1
878270179310. 2
878270179311. 3

878270179312. 4

Question Number : 18 Question Id : 87827045618 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRIRAVgHIAICH H o € Gaftd ol § 4 i a9

(A) TR e S T i ) 35 G, T e, STl & 1Y S & &, Wl e refoe e
RS 31 Qe & ST U e €|

(B) HRTT WIS | H o - SAHTEH 1 ATt HRTTY OIelnet || Wi et R AREAU & Uiy ¥ fekiersey &
TIoR0 1 3 &l o, o RUMIeRY il el 5

(C) ¥R T, T U | % Facio! & Tel 9 Tl

(0) W5, T ¥ 2 37T v & R R, T, U Wik & 1 11 & 1R 9] o R U (e o el
&1 ¥ T B 5

T fou e fogent 479 W) TR

Options :

878270179309. 1
878270179310. 2
878270179311. 3

878270179312. 4

Question Number : 19 Question Id : 87827045619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

(Hormone)

(Site of synthesis)

(A). Progesterone

(). Adrenal cortex

(B). Testosterone

(). Corpus luteum

(C). Estrone

(I11). Testis

(D). Aldosterone

(IV). Ovary

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (II), (C) - (11}, (D) - (IV}

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (IlT), (C} - (IV), (D) - (1)
Options :

878270179313. 1
878270179314. 2
878270179315. 3
878270179316. 4

Question Number : 19 Question Id : 87827045619 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl & Ty -1l BT e S

it Egial

(gTHiA) (EFRTOT ®y)

(A) Hiareet = () TSiHa ®icad

(B) TRI=IH () dia fifs (#ids wgfean)
(C)TEH (1) g (2fRew)

(D) TeS =R (Iv) s

T RU N e A A T SR

1. (A) - (1), (B) - (11}, {C} (1), (D) - (IV)
2. (A) - (1), {B} (1), (C) - (1), (D} - (IV)
3. (A) - (I, {B} (), (C) - (IV), (D) - (1)
4. (A)- (1), (B) - (I}, {C}—(!V}:{D}—(EI}

Options:

878270179313. 1
878270179314. 2
878270179315.3
878270179316. 4

Question Number : 20 Question Id : 87827045620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the process of exploring eukaryote 805 ribosome, the following components may be observed -
(A). 285 rRNA, 5.85 rRNA

(B). 55 rRNA and 34 proteins

(C). 23S IRNA

(D). 55 rRNA and 49 proteins

Choose the correct answer from the options given below:

(A) and (D) only.
(A) and (B) only
(A), (C) and (D) only
(A), (B) and (C) only.

)
i
3:
4
Options :
878270179317. 1
878270179318. 2
878270179319. 3

878270179320. 4

Question Number : 20 Question Id : 87827045620 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



b edle 80S TSaIH &1 390 &1 uishar H, Rufiiad gcsi i SEl off Udhdl & -
(A) 285 rRNA., 5.85 rRNA

(B) 55 rRNA 3R 34 UIEH

(C) 23S rRNA

(D) 55 rRNA 37X 49 Hi¢H

i fGu v fadedi § ¥ U8 S| |

1. &ad (A) 3R (D)
2 %ad (A) 3R (B)
3 %ad (A), (C) 3R (D)
4. %4d (A), (B) AR (C)

Options :

878270179317. 1
878270179318. 2
878270179319. 3

878270179320. 4

Question Number : 21 Question Id : 87827045621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Inan experiment, two fly populations are separately maintained, for many generafions. Population A, contains closely
related individuals, whereas, population B contains a st of unrelated individuals. Over many generations, it was observed
that the fitness of individuals, in population A, is lower than the fitness of those in Population B, because -

1. Close relatives will not mate with one another.

2. Close relatives compete for common resources more than unrelated individuals.
3. The offspring of close relatives harbour, more deleterious recessive mutations.
4 Unrelated individuals are likely to contain new high-fitness genes.

Options:

878270179321. 1



878270179322. 2
878270179323. 3

878270179324. 4

Question Number : 21 Question Id : 87827045621 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 R 50 T O R e B AR R Tl o e I R e
 arafiy wical @1 9g g1 31 s Qiedl od e T o ufp A H wiceal @l et oy B  wfdkayl 1 e 4

1 Fee Wl wam & w T o

2 e Yadh orei A @ o & e S & fo ot v a2
3. e e it e o iR o e g

4. e AfRga U 3 - R T i g 1 ST Bl

Options:

878270179321. 1
878270179322. 2
878270179323. 3

878270179324. 4

Question Number : 22 Question Id : 87827045622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Papain digestion of 1gG antibody molecule results into -

1. 2 Fab fragments and 1 Fc fragment
2. 2 Fc fragments and 1 Fab fragment
3. 4 Fab fragments and 2 Fc fragments
4 1 Fab and 1 Fc fragment.



Options :

878270179325. 1
878270179326. 2
878270179327. 3

878270179328. 4

Question Number : 22 Question Id : 87827045622 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G USISTaT U] & YT U & UGSy -

1.2 Fab @3 3R 1 Fc ©3
2 2Fcds AR 1Fab WS
3 4 Fab ©E 3R 2 Fc ©3
4 1Fab®s 3R 1 FcE3

Options :

878270179325. 1
878270179326. 2
878270179327.3

878270179328. 4

Question Number : 23 Question Id : 87827045623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the plant or ecosystem known to have highest energy conversion efficiency -

. Tropical forest plantation
- Sugar cane

. Cornfield

- Open sea

B A e

Options :

878270179329. 1
878270179330. 2
878270179331. 3

878270179332. 4

Question Number : 23 Question Id : 87827045623 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JdH Hol U G&dl & Al o4 - dTd UIey I1 UiiRiRfa® dF &1 99 @ -

1. JUGIENY a9 AR
2. 7T
4. Gl Tix

Options:

878270179329. 1
878270179330. 2
878270179331. 3

878270179332. 4

Question Number : 24 Question Id : 87827045624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select the vegetation type, having highest productivity. per unit weight (g leaf biomass™" year™!) from the following sites -

1. Desert

2. Deciduous forest
3. Coniferous forest
4 Grassland

Options :

878270179333. 1
878270179334. 2
878270179335. 3

878270179336. 4

Question Number : 24 Question Id : 87827045624 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FgfeiTad R0 9 U0 385, MR (o 70 vid 5o ) 3 9e 3@ S dal a1 aRatd & WOR &1 907 &1 -

1 TR

2 QU a4
3 Yy
4 g H g

Options:

878270179333. 1
878270179334. 2
878270179335. 3

878270179336. 4

Question Number : 25 Question Id : 87827045625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following are, correct characteristic, features set, for bony fishes?

1. Heterocercal caudal fin; 5-7 pairs of gill slits; exoskeleton is made up of cycloid scales.
2. Homocercal caudal fin; 4 pairs of gill slits; ventrally placed mouth

3. Homocercal caudal fin; 5-7 pairs of gill slits; presence of airbladder.

4. Homocercal caudal fin; 4 pairs of gill slits; presence of operculum

Options :

878270179337. 1
878270179338. 2
878270179339. 3
878270179340. 4

Question Number : 25 Question Id : 87827045625 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad 9 o1 4 fuged 7efil & ft w3l fawivant 2

RuDd Bisd (Y1)t e Rdey & 5.7 31s: SR b URaards b 4 S8l 5|
BHged oled (qR) fih; fa Raeg & 4 WS, sada ge

TS Bied (T) fih: 1 fed & 5.7 WS, TReie @1 JuRfd |

RIS Dleagwy) U i ey & 4 dis: AR o1 U

T e L

Options:

878270179337. 1
878270179338. 2
878270179339. 3

878270179340. 4

Question Number : 26 Question Id : 87827045626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Match List-l with List-l

List-I List-ll

Hormone Function

(A). Leptin (I). Conversion of glycogen to glucose-1 phosphate
(B). Pancreatic polypeptide (II). Suppresses appetite

(C). Parathyroid hormone (I11). Inhibits somatostatin secretion

(D). Epinephrine in skeletal muscle |(IV). Promotes formation of calcitriol

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (I1), (D) - (1IT)

2. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

3.(A) - (1), (B) - (I1), (C) - (IV), (D) - (1)

4 (A)-(Il), (B)- (1), (C)- (IV), (D) - (1)
Options :

878270179341. 1
878270179342. 2
878270179343. 3

878270179344. 4

Question Number : 26 Question Id : 87827045626 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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it -
SIHI GaU]
(A) TP (1) TGP I BT HIal-1 Hiehe § S
(B) smrer! uiefipss (I1) & & FH Fd 6
(C) TRTYTSS BT (111) GHERe e 99 &1 dar &
g Rt Ao i o S (WA st R R E e e R T e G
& S R sy Fe TSR == ]
1. (A) - (IV), (B) - (1), (C) - (I1), (D) - (1)
2. (A)- (1), (B) - (I}, (C} - (11}, (D) - (IV)
3. (A) - (D), (B) - (1), (C) - (IV), (D) - (li1)
4. (A) - (1), (B) - (lI), (C) - (IV), (D) - ()
Options:

878270179341. 1
878270179342. 2
878270179343. 3

878270179344. 4

Question Number : 27 Question Id : 87827045627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Place these steps in temporal order, first to last

{A). Exocytosis of synaptic vesicles.

(B). Binding of neurotransmitter molecules to its receptors.
(C). Opening of voltage-gated Ca?* channels

(D). Opening of Na™ channels and influx of sodium ions.
(E). Generation of post synaptic potential

Choose the correct answer from the options given below:

1.(C), (A), (B), (D), (E).
2. (B), (D), (C). (E), (A).
3. (B), (A), (D), (E), (C).
4. (C), (B), (D), (A), (E).

Options :

878270179345. 1
878270179346. 2
878270179347.3

878270179348. 4

Question Number : 27 Question Id : 87827045627 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= UGl &1 9Efi® 3@ (WyF 9 &ifaq ) § 3Rag -

(A) SHTisEHT giedmtsl & dfediRiedl (TFaraeIiyy) |
(B) RIS 3U[3fl &I 39 Wed 4 il

(C) ieculTIcs Ca2* T=dl ®f WAl

(D) Na* Il &1 g1 AR TFsaH G- &1 UaiE |

(E) TY AfHHH! &1 BT goid
I feu e fasedf § € T8 IR A |
1. (C), (A), (B), (D), (E).
2. (B), (D), (C), (E), (A).
3. (B), (A), (D), (E), (C).
4. (C), (B), (D), (A), (E).
Options :

878270179345. 1
878270179346. 2
878270179347.3

878270179348. 4

Question Number : 28 Question Id : 87827045628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT TRUE with respect to control of respiration?

1. Peripheral chemoreceptors respond to changes in O, and CO; concentration in the blood.
2. Respiration responds to smaller changes, in the blood concentration of O; than CO-.

3. Chemoreceptors in the CN5 respond to changes in CO; concentration in the blood.

4 Central chemoreceptors are sensitive to changes in pH of the cerebrospinal fluid.

Options:

878270179349. 1



878270179350. 2
878270179351. 3

878270179352. 4

Question Number : 28 Question Id : 87827045628 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4g a0 & g9y 8 Rafafaa § 3 o 9 oy 98 T8 22

1. URHTY TGITE! (HHIREER) 6 4 0, 3R CO, H Ui & UG &d &1

2 45 HIad @1 Figdl § 0, AR CO, & B¢ URadH! & g ufafda

3. CNS H TG (HHIRTLR) Y& H CO, B Gigdl H IRadH! &1 U od o

4. Drg®IY THIE! (GHINYPR) FHIGTHHS 5d & Ul Td H URdcH o Uid de-siid gid o

Options:

878270179349. 1
878270179350. 2
878270179351. 3
878270179352. 4

Question Number : 29 Question Id : 87827045629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Asian mongoose and the American skunk, evolved independently of each other, but show similar structures and

features, for e.0., ability to spray therr attacker with musk. The similarities between the two organisms are most ikely the
result of -

1. genetic drift

2. divergent evolution
3. allopatric speciation
4 convergent evolution



Options :

878270179353. 1
878270179354. 2
878270179355. 3

878270179356. 4

Question Number : 29 Question Id : 87827045629 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS el 3R SR W, T g § WA 0 4 fowiid gU aift O 9 e o fomwad e € Seeu
T 310 AT R gt 091G et 1 4| G il h 1 WAl 1 ST AR 5 -
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Options :

878270179353. 1
878270179354. 2
878270179355. 3
878270179356. 4

Question Number : 30 Question Id : 87827045630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Rifampicin, an inhibitor of RNA polymerase, is added to a bacterial culture. The culture is immediately divided into thres
fractions, fo which radioactive thymine or uracil or methionine are added, respectively. Five minutes later the cells are lysed
and the radioactive label in all macromolecules is monitored.

What will you observe ?

1. Thymine and methionine incorporated will be greater than uracil.

2. The labels will be equally incorporated

3. Uracil incorporated is similar to methionine but less than thymine

4. Uracil incorporated will be greater than methionine but less than thymine.

Options :

878270179357. 1
878270179358. 2
878270179359. 3

878270179360. 4

Question Number : 30 Question Id : 87827045630 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR, Sl RNAUTTARS 1 W AR 19 ¢, U oay] Yo o 1a] ol | St a1 ot i ofsi o fnfor foan e
¢ o e ety oot e o A e o 31 e e G el 1 5 () R R i g o
T Il W NIl o 1 TR @1 ! ¢l

3T T G2

1. YT R ARG 1 T e 4 o g

2. 19! 1 A U 9 et fog

3, AR 1 T ARG T BI 2 it YT 9 A il
4. TN S 1 STt g i o § @ 8

Options:
878270179357. 1

878270179358. 2

878270179359. 3



878270179360. 4

Question Number : 31 Question Id : 87827045631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N-linked glycosylation in proteins of eukaryotes is initiated in the -

1. lumen of the endoplasmic reticulum
2. lumen of the Golgi apparatus

3. Inside the nucleus

4. within endosomes.

Options :

878270179361. 1
878270179362. 2
878270179363. 3

878270179364. 4

Question Number : 31 Question Id : 87827045631 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ghgcH & UISHH N -Hgi BT LE [l &dl & -

1. USIRAHS UeHeH BT wgH
2. T IUDH0T BT g

3. s & AT

4 TSIgE & Hidaw|

Options :
878270179361. 1
878270179362. 2

878270179363. 3



878270179364. 4

Question Number : 32 Question Id : 87827045632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in order of their action -

(A). G1 cyclin CDK Complex

(B). APC- cdh1

(C). S Phase cyclin CDK Complex

(D). APC- cdc20

Choose the correct SEQUENCE answer from the options given below:

1. (B), (C), (A), (D)
2. (A), (C), (D), (B)
3. (B), (A), (D), (C)
4 (A), (D), (B), (C)

Options :

878270179365. 1
878270179366. 2
878270179367. 3

878270179368. 4

Question Number : 32 Question Id : 87827045632 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad ®f 399! o & 9 1 soaflud &1 -
(A) G1 TIEfdeH CDK DIcia

(B) APC-cdh1

(C) S TR UiEfdeH CDK SIEciad

(D) APC-cdc20

Td feu e fgwedl § 9 98 S| |

Options :

878270179365. 1
878270179366. 2
878270179367. 3

878270179368. 4

Question Number : 33 Question Id : 87827045633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



|dentify the correct statements related to sex linked inheritance in humans

(A). Males are considered 1o be hemizygous, for genes present on X-chromosome.

(B). Majority of sex-linked traits are carried on the X-chromosome.

(C). Genes that are not sex-linked are present in somatic cells and absent in germ cells
(D). 1:1 ratio of males and females in humans, is the result of meiosis in males.

(E). The single X-chromosome, present in the father, is inherited by the son.

Choose the correct answer from the options given below:

1. (A),
2. (B
3. (A
4 (B),

Jand (E) only.
nd (D) only.
nd (B) only

and (E) only.

e

(B
a
a

(C)

Options :

878270179369. 1
878270179370. 2
878270179371. 3

878270179372.4

Question Number : 33 Question Id : 87827045633 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) XU W e ofF & for Qout ot srefqmerel) o el 3|

(B) fefT W HRIHIT TE0 X - TN W ek &

C) W o fef T 71 1 8, d B1ie il | faeme € 8 iR o ik § srufyd g1 2|
D) et H N1 SR wfgeitall 1 1:1 ST AU, Tou H Helgh faurer &1 tRum 21

(E) e & Hiefe Wt X - TUREA P 1 dIFTH H fAeien 3|

4 few e fomed # 4 W61 TR T

1. ®qa
2 Bad
3 Baq
4 Haq

A), (B) 3 (E)
B) 3R (D)
A) 3R (B)
B), (C) R (E)

——np—,

Options :

878270179369. 1
878270179370. 2
878270179371. 3

878270179372.4

Question Number : 34 Question Id : 87827045634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l (Structure)|List-ll (Details relating to structure)

(A). Diaphysis |[(I). The regions between the diaphysis and epiphysis

(B). Epiphysis |[(I1). A thin membrane that lines the internal bone surface

(C). Metaphysis |(Ill). The proximal and distal end of the bone

(D). Endosteum |(IV). The long cylindrical main portion of the bone

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (IV), (D) - (N1}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (IV), (B) - (1), (C) - (1), (D) - (I1)

4. (A) - (IV), (B) - (1), (C) - (1), (D) - (I1)
Options :

878270179373. 1
878270179374. 2
878270179375. 3

878270179376. 4

Question Number : 34 Question Id : 87827045634 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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i (@) (g @R § gafia faa)

(A) SHEERE () SHPERY IR uifrRm s de s 49

(B) TPARE  |(1) Te ol 2ot off siiafts iy 31 98 31 W@ sl &
(C) TTFERE  |(I) Y & FHOR R R B8R

(D) ESifeTn (IV) Sy T Ta1 STHISR & HAT

i féu 7t fadbedf o U T8t 3 |

1.(A) - (1), (B) - (1), (C'J-{l‘v’l (D) - ()

2. (A) - (1), (B) - (IT}, (C) - (1), (D) - (IV)

3. (A) - (IV), (B) - (I, (C) {I} (D) - (I

4_(A) - (IV), (B) - (I}, (C)- (1), (D) - (11}
Options :

878270179373. 1
878270179374. 2
878270179375. 3
878270179376. 4

Question Number : 35 Question Id : 87827045635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l (Species) List-Il (Identifying Characters of species)

(A). Allopatric Species |(I). Species inhabiting the same geographical area

(B). Sympatric Species|(Il). Species inhabiting different geographical areas

(C). Sibling Species  |(/Il). Species occupying separate areas, that share a common boundary

(D). Parapatric Species|(IV). Species which are morphologically identical, but reproductively isolated.

Choose the correct answer from the options given below:

1.(A)-(
2. (A)-(
3. (A)-(
4. (A)-(

1), B)- (1), (C) - (V), (D) - (1l
1), (B) - ), (C) - (Iln), (D) - (IV)
1), (B) - (Ilh), (C) - (IV), (D) - II)
1), (B)-(IV), (C) - {1), (D) - (1l

Options :

878270179377. 1
878270179378. 2
878270179379. 3

878270179380. 4

Question Number : 35 Question Id : 87827045635 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- BT - | Frer sferd

et (o) -1l (T & a& @1 9ga)

(A) TOHICH WOl {(1) T @) Mo 43 # 36 arel wetta
(B) fomifes wanfert (1 fafir e &t & T areft wanfoa
(C) TETEY (FRafei) Wical|(ll) SerT-SenT 851 W Eo S ardl W], o T A ST 95 &3 6
(D) TRTGfEes wetoal (IV) STl o SRRy § THM &, Tt W &0 § T B

T feU U fdoedl 5 § Gl I |

1.(A)-(I1), (B) - (1), (C) - (IV), (D) - (1)
2.(A)- (), (B) - (In), (C) - {|||) (D) - (IV)
3. (A)- (1), (B) - (1), (C) - (IV), (D) - (1)
4 (A)- (I, B)- (V), (©) - (1), (D) - ()

Options :

878270179377. 1
878270179378. 2
878270179379. 3
878270179380. 4

Question Number : 36 Question Id : 87827045636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the events in correct order of sequence

(A). Cleavage

(B). Cortical rotation

(C). Mid-blastula transition

(D). Gastrulation

Choose the correct SEQUENCE answer from the options given below:

1. (A), (B), (C
2. (C), (B), (A
3. (B), (A), (C
4. (B), (C), (A

), (D)
), (D)
), (D)
), (D)
Options :
878270179381. 1
878270179382. 2
878270179383. 3

878270179384. 4

Question Number : 36 Question Id : 87827045636 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- el

TgfaRad gears &1 el HIHH § oaayd &1
(A) fagem
(B) dcP< YUH

(C) - (SARCA) HRb AU
(D) TR

Td feu e fgwedl § 9 98 S| |

. (A), (B), (C), (D)
2 (C), (B), (A), (D)
A), (C), (D)
C), (A), (D)

(B), (
(B). (
Options :
878270179381. 1
878270179382. 2
878270179383. 3

878270179384. 4

Question Number : 37 Question Id : 87827045637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the correct sequence of DNA packaging -
{A). DNA scaffold

(B). Nucleosome formation

(C). Chromatosome formation

(D). Histone dimerization

Choose the correct answer from the options given below:

1. (D), (A), (C), (B)

2. (D), (C), (B), (A).

3.(B), (A), (D), (C)

4 (B), (C), (D), (A).
Options :

878270179385. 1
878270179386. 2
878270179387. 3
878270179388. 4

Question Number : 37 Question Id : 87827045637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fofafEad 31 T3 v el ol ufcd e & U1 3 H ogafeud &1 -

(A) DNAGIET

(B) i &1 i

(C) e &1 FHim

(D) T SEMIEwEH

Td feu e fgwedl § 9 98 S| |

Options :

878270179385. 1
878270179386. 2
878270179387. 3

878270179388. 4

Question Number : 38 Question Id : 87827045638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following animals on the basis of their phyla, according to increasing level of complexity -
(A). Scolopendra

(B). Nereis

(C). Dentalium

(D). Euplectella

(E). Physalia

Choose the correct answer from the options given below:

Options :

878270179389. 1
878270179390. 2
878270179391. 3

878270179392. 4

Question Number : 38 Question Id : 87827045638 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fafeifad mfort & Sfead & 9gd TR & HTOR, 36 T (Hr3aH) & YR R afeyd B -
(A) TBICITS]

(B) R

(C) Seferam

(E) Bragferar
4 Ry e 3 v S

Options :

878270179389. 1
878270179390. 2
878270179391. 3
878270179392. 4

Question Number : 39 Question Id : 87827045639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following evolutionary events in the history of horse evolution chronologically -
(A). Miohippus

(B). Orohippus

(C). Hyacotherium

(D). Merychippus

Choose the correct answer from the options given below:

), (C), (D)
)

1. (A), (B), (C), (

2 'fC; (B), (D), (A).
B), (A), (D), (
( ),

(D), (C)
4 {C; B), (A), (D)
Options :

878270179393. 1
878270179394. 2
878270179395. 3

878270179396. 4

Question Number : 39 Question Id : 87827045639 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[at

Uls @ faem & Sfagr ¥ Fufoled Aergard gems & sTas i €U 4 ogafeyd & -
(A) frafemrE

(B) SRIETH

(C) T IRTH

(D) AR

4 feu U famedl # 9 951 TR |

Options :

878270179393. 1
878270179394. 2
878270179395. 3
878270179396. 4

Question Number : 40 Question Id : 87827045640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are trug?

(A). Differential gene expression can occur only at the level of transcription

(B). RNA polymerase binds to the promoter region to initiate transcription

(C). Enhancers regulate transcription

(D). Transcription factors can recognize specific sequences of DNA in heterochromatic region
Choose the correct answer from the options given below:

(A
(B)
(B)
(A

} and (D) only.
C) only.

C‘ and (D) only
C) only.

QD;--;QJ;—-—;

1.(A),
2.(B)
3.(B),
4. (A)an
Options :

878270179397. 1
878270179398. 2

878270179399. 3
878270179400. 4

Question Number : 40 Question Id : 87827045640 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafad ¥ 9 $1-91 3y 99 572

(A) faNeE® S sifioafad drad o oE & W) W el 8l Uddl o

Ii"\

(B) RNA OIS HICRG 3RY & & (o0 Jaad &4 4 Iadl &

(C) TaHd 3rqora & Fafid oed &

(D) 3Ice- RS [quaaull &7 ¥ ST & GRIY o 15HH & Teg- 9od 8
I feu e fasedf § © T8 SR |

1.@ad (A), (B) 3R (D)
2 @dd (B) 3R (C)
3. @dd (B), (C) 3R (D)
4. @ad (A) AR (C)

Options :

878270179397. 1
878270179398. 2
878270179399. 3

878270179400. 4

Question Number : 41 Question Id : 87827045641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which two embryoclogical structures together form the bilaminar disc?

1. Cytotrophoblast and Hypoblast

2. Epiblast and Hypoblast.

3. Cytotrophoblast and Epiblast.

4. Syncytiotrophoblast and Embryoblast

Options:
878270179401. 1

878270179402. 2



878270179403. 3

878270179404. 4

Question Number : 41 Question Id : 87827045641 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

ATT-aRad & ¥ DI Tl &l YOI WA [Hcias disclii-R (% a1l 82

1. UISCIEBIIRE 3R BISUlsiRe

2, TT_”HFITE’FQTE“IFI

3. Wigcleblsare AR Ul |

4. TR HIEIBlse AR UHsi e

Options:

878270179401. 1
878270179402. 2
878270179403. 3

878270179404. 4

Question Number : 42 Question Id : 87827045642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Cytoskeleton of eukaryotic cells consists of

(A). Peptidoglycans

(B). Microtubules

(C). Chitin

(D). Microfilaments

(E). Cellulose

Choose the correct answer from the options given below:

1. (B) and (D) only.

2. (A), (B) and (C) only.
3. (A), (B), and (D) only.
4. (B), (D) and (E) only.

Options :

878270179405. 1
878270179406. 2
878270179407. 3

878270179408. 4

Question Number : 42 Question Id : 87827045642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gopixdifed DIfRr@Tel & YrEeiade (BIRDSI dhdld) Hald @ -
(A) UfpSraRs4

(B) AIEHIITH

(C) BTzl

(D) AEHIbaHed

(E) Hegarst
I feu e fasedf § € T8 IR A |

1.@ad (B) 3R (D)

2 ®ad (A), (B) 3R (C)
3. ®ad (A), (B) 3 (D)
4. @dd (B), (D) 3R (E)

Options :

878270179405. 1
878270179406. 2
878270179407. 3
878270179408. 4

Question Number : 43 Question Id : 87827045643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is frue concerning infrared spectroscopy ?

1. Functional groups can be identified by looking in the fingerprint region of the spectrum.

2. It shines infrared light on a compound and records the position, where the light is blocked by the compaound. This results
In the spectrum peaks.

3. It1s useful in determining the size and shape of a compound's carbon skeleton.

4 When the infrared light frequency matches the frequency of bond vibration in a molecule, a peak is recorded on the
spectrum.

Options:



8782701794009. 1
878270179410. 2
878270179411. 3

878270179412. 4

Question Number : 43 Question Id : 87827045643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hoa (9PNE) W) o Gay ¥ afafeq 4 4 o g o Tl 2

1. Wk b T fcraTy (THRlie) & ol R oo Sigl ) UgaH @ o 9 g

) T3 @ U R 3aNa T 3] JH0T § 3R W T 31 RIS Xl &, o) W] 1 Ta g0 a0 (6] ol g
20 URUTREY Waed R W Ugd o ¢l

3. T3 U TG & BT Gora & STaR 3R g @ el 7 & gt 31

4. 99 TIPS WO g1 U U] H 4 0 ! i 9 et el , o R R U R o food e

Options :

878270179409. 1
878270179410. 2
878270179411. 3

878270179412. 4

Question Number : 44 Question Id : 87827045644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI

(Phase) (Characteristics of the phase)

(A). Lag Phase (). Dying cells are higher than the dividing cells.
(B). Log Phase (II). Number of new cells equal to dying cells.

(C). Stationary Phase|(lll). Adoption to the nutrient environment.

(D). Decline Phase  [(IV). Binary fission is at maximum rate.

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (Ii), (C) - (IV), (D) - (Il
2. (A)-(IV), (B) - (1), (C) - (1), (D) - (1l
3. (A) - (I, (B) - (1), (C) - (1), (D) - (IV
4. (A) - (I, (B) - (IV), (C) - (l1), (D) - (I

T g g g

Options :

878270179413. 1
878270179414. 2
878270179415. 3

878270179416. 4

Question Number : 44 Question Id : 87827045644 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- BT -0 e S

it -l

(STaET) (3aTT D [A=wan)

(A) TRT Sf@RIT |(1) FRA aTell BiRrs fFureent siftwrsd ot gomn | «Hfis g g1
(B) T TR |(11) A aTel SIRTSTST & SYET 75 HIReTsl S Il

(C) MR s@=I () 9I9F aaae & 9

(D) Tedt sEmi|av) BEsT sfiear @ &
T iea I s oR T

1.(A) - (1), (B) - (), (C) - (IV), (D) - (1)
2. (A) - (IV), (B) - (1), (C) - (111}, (D) - (1)
3. (A) - (1), (B) - (1), (C) - (1), (D} - (IV)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270179413. 1
878270179414. 2
878270179415. 3

878270179416. 4

Question Number : 45 Question Id : 87827045645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll
(Technique) (Connecting/purpose)
(A). DNA footprinting (). Protein-protein interaction

(B). Yeast two hybnd system [(1l). VNTR

(C). DNA fingerprinting (I11). DNA binding protein

(D). SAGE {IV). Transcriptome analysis

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (IV), (D) - (N1}

2. (A) - (N, (B) - (1), (C) - (I1), (D) - (IV)

3. (A) - (1), (B) - (IV), (C) - (1), (D) - (I1)

4. (A)-(IV), (B) - (IN, (C) - (1), (D) - (1IT)
Options :

878270179417. 1
878270179418. 2
878270179419. 3
878270179420. 4

Question Number : 45 Question Id : 87827045645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G-l BT -1 F fers e

Tl ([@@-i®) 11 (e 32T )
(A) SiTAT Feftifen () WEHHREH b
(B) dre fgdada () VNTR

(C) DNA RIS () DNA SEEfET U
(D) SAGE (Iv) chafmeE faego
=i f&u 7I¢ fadeul H § 95t 3R |

1. (A)- (1), (B) - (IN), (C) - (IV), (D) - (1)
2. (A) - (I), (B) - (1), (C) - (1), (D} - (IV)
3. (A) - (), (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (IV), (B) - (IN), (C) - (1), (D) - (11}

Options :

878270179417. 1
878270179418. 2
878270179419. 3

878270179420. 4

Question Number : 46 Question Id : 87827045646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l (Structure)

List-1l (Function)

(A). Ascending loop of Henle

{I). Reabsorption of glucose

(B). Decending loop of Henle

(). Sodium is actively thrown out

(C). Proximal tubule

(). Diffusion of water

(D). Collecting duct

{IV). Passive entry of sodium

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (

2. (A) - (I, (B) - (IV), (C) - (Il

3. (A) - (I, (B) - (1), (C) - (1),

4. (A)-(IV), (B) - (I, (C) - (i), (
Options :

878270179421. 1
878270179422. 2
878270179423. 3

878270179424. 4

1y, (
(D) -

D) - (1)
D) - (1)
(IV})
D) - (1)

Question Number : 46 Question Id : 87827045646 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (I1), (B) - (IV), (C) - (1), (D) - (1)
2. (A)-(Il), (B) - (IV), (C) - (1), (D) - (1}
3. (A) - (1), (B) - (1), (C) - (1), (D) - (IV})
4_(A)-(IV), (B) - (1), (C) - (1), (D) - (1)
Options :

878270179421. 1
878270179422. 2
878270179423. 3

878270179424. 4

Question Number : 47 Question Id : 87827045647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Sequentially arrange the following steps involved in blood clot formation -
{A). Conversion of fibrinogen to fibrin

(B). Conversion of prothrombin to thrombin

(C). Adhesion and aggregation of platelets on damaged vessels

(D). Prothrombinase formed by extrinsic or intrinsic pathway

(E). Reduction of blood loss by initiation of a vascular system

Choose the correct answer from the options given below:

1. (E), (D), (C), (B), (A).
2_(B), (A), (C), (E), (D).
3. (E), (B), (C), (D), (A).
4.(B), (C), (D), (E), (A).

Options :

878270179425. 1
878270179426. 2
878270179427.3

878270179428. 4

Question Number : 47 Question Id : 87827045647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) UITEa @ difta & Sge
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(E) Gag- o3 &1 LA T Yad Bi g1 § Sl
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1. (E), (D), (C
2.(B), (A), (C
3. (E), (B), (C
4 (B), (C), (D

. (B

B), (A).
E

(
(E), (D).
(D), (A).
. (E), (A).

M M Mt

)
).
)
)

Options :

878270179425. 1
878270179426. 2
878270179427.3
878270179428. 4

Question Number : 48 Question Id : 87827045648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Estrous and menstrual cycle are two types of cycles, that occur in female mammals. Both cycles begin after sexual maturity
in females. Reproductive hormones induce these cycles in females. These cycles happen in order o prepare female
mammals, for holding a child during pregnancy.

The primary difference between estrous and menstrual cycles is -

1. The endometrium shed by the uterus, during the estrous cycle, is reabsorbed, but the shed endometrium is excreted
from the body, during the menstrual cycles.

2. Behavioural changes, during estrous cycles are much less pronounced effects, on estrous cycle, than they do on
menstrual cycles.

3. Season and climate have less pronounced effects on estrous cycle, than they do on menstrual cycles.

4. Most estrous cycles are of much longer duration, compared fo menstrual cycles.

Options :

878270179429. 1
878270179430. 2
878270179431. 3

878270179432. 4

Question Number : 48 Question Id : 87827045648 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. TG T B SR 49eR URAGH, H 950 T A1 Yo 756 @1 ol § §gd HW WP 1 Sd o
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4. D 7} o e & i) G 7 g o) o g ¢l

Options:

878270179429. 1



878270179430. 2
878270179431. 3

878270179432. 4

Question Number : 49 Question Id : 87827045649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements about cortisol are correct?

(A). It decreases the circulating lymphocytes.

(B). It increases the circulating eosinophils.

(C). It decreases the production of prostaglandins

(D). It inhibits the production of fibroblasts

(E). It alters immune system responses and suppresses the digestive and the reproductive systems.
Choose the correct answer from the options given below

1.(A), (B) and (D) only.
2.(B), (C)and (D) only
3. (A), (C), (D) and (E) only.
4. (A), (B), (C) and (E) only.

Options:

878270179433. 1
878270179434. 2
878270179435. 3

878270179436. 4

Question Number : 49 Question Id : 87827045649 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) Tg UREAN 3lRAIfhd @ T gl
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Options :

878270179433. 1
878270179434. 2
878270179435. 3

878270179436. 4

Question Number : 50 Question Id : 87827045650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements made with regards to plasmid incompatibility are true ?
(A). Plasmids having the same origin of replication, belong to the same incompatibility group.
(B). Plasmids having different origins of replication, belong to the same incompatibility group.
(C). Plasmids of the same incompatibility group are compatible.

(D). Plasmids of the same incompatibility group are incompatible.

Choose the correct answer from the options given below:

1. (A) and (C) only.
2.(A)and (D) only.
3.(B) and (C) only.
4 (B)and (D) only.

Options :

878270179437. 1
878270179438. 2
878270179439. 3

878270179440. 4

Question Number : 50 Question Id : 87827045650 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) Ufadfa & TOH Td arc @IS U & STadl 9 9 9afdd B
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(C) U B LTIl YHE & Wi Td 8l
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=td fau e fadedl & ¥ 981 SR 4|

1.%ad (A) 3R (C)
2. ®ad (A) 3R (D)
3. @ad (B) 3R (C)
4. @dd (B) 3R (D)

Options :

878270179437. 1
878270179438. 2
878270179439. 3

878270179440. 4

Question Number : 51 Question Id : 87827045651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which organism's species have greater diversity in the Western Ghats than the Eastern Ghats?

1. Mammals
2. Amphibians
3. Reptiles

4 Pisces

Options:
878270179441. 1
878270179442. 2

878270179443. 3



878270179444. 4

Question Number : 51 Question Id : 87827045651 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uigHl are # ydf gre & ga-1 H fog ofid &t uaifa # s#f¥e fafauar g2

1. TR
2. IHTTR

3. 99y

4 Hod

Options :

878270179441. 1
878270179442. 2
878270179443. 3

878270179444. 4

Question Number : 52 Question Id : 87827045652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a feature of a stable community?

. susceptible to invasions by alien species
. susceptible to occasional disturbances

- Resistant to occasional disturbances

- More variation in the productivity.

B A o

Options :
878270179445. 1
878270179446. 2

878270179447. 3



878270179448. 4

Question Number : 52 Question Id : 87827045652 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. facah gonfadl & seHull & Ui gageia
2. oo g9 T faeiy & ufy doeeii
5. oo g9 T faeiy & ufy ufaer
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Options :

878270179445. 1
878270179446. 2
878270179447. 3

878270179448. 4

Question Number : 53 Question Id : 87827045653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The transition zone in biosphere reserve -

1. covers the buffer zone and lies, in between the buffer zone and the core zone.
2. covers the core zone and lies, in between the core zone and the buffer zone
3. i1s the inner most zone of the biosphere reserve.

4 Is the outer most zone of the biosphere reserve.

Options :
878270179449. 1
878270179450. 2

878270179451. 3



878270179452. 4

Question Number : 53 Question Id : 87827045653 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. T & Bl DA Bl & AR 9B &F AR TR &3 & ad § YT 5l 2l
2 HRET DI Pal Didl 6 IR PR EFA IR TP T d ag & R & |

3. U8 SigHsd SRI&M &7 &1 gy Yol &7 &

4. U8 SiaH S SRI&M &F &1 Yoy digdl &7 g

Options :

878270179449. 1
878270179450. 2
878270179451. 3
878270179452. 4

Question Number : 54 Question Id : 87827045654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Migratory species pose special preservation challenges, because

1. they are endemic, they are especially susceptible to habitat destruction.

2. their conservation may require international cooperation, when they require habitats in different countries
3. they are often prone, population number, decline during their long migratory journeys.

4. they reside in biodiversity hot spots, that are most susceptible to habitat degradation.

Options :
878270179453. 1
878270179454. 2

878270179455. 3



878270179456. 4

Question Number : 54 Question Id : 87827045654 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179453. 1
878270179454. 2
878270179455, 3
878270179456. 4

Question Number : 55 Question Id : 87827045655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following protected areas are declared Tiger Reserves in India?
(A). Bandipur

(B). Bhitarkanika

(C). Manas

(D). Sunderbans

(E). Kaziranga

Choose the correct answer from the options given below:

1. (A), (C) and (D) only
2. (A), (B) and (E) only.
3. (A) and (D) only.

4 (B), (C)and (D) only

Options :

878270179457. 1
878270179458. 2
878270179459. 3

878270179460. 4

Question Number : 55 Question Id : 87827045655 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) SRR
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(E) DTG
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1.%ad (A), (C) 3R (D)
2 &ad (A), (B) IR (E)
3. &ad (A) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270179457. 1
878270179458. 2
878270179459. 3

878270179460. 4

Question Number : 56 Question Id : 87827045656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following disease in humans, is caused due to expanded microsatellite repeats?

1. Huntington's disease.
2. Cystic fibrosis

3. Tuberculosis

4 Alkaptonuria

Options:
878270179461. 1

878270179462. 2



878270179463. 3

878270179464. 4

Question Number : 56 Question Id : 87827045656 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270179461. 1
878270179462. 2
878270179463. 3

878270179464. 4

Question Number : 57 Question Id : 87827045657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Microorganisms that produce antibiotics are unaffected by the same antibiotic.

One of the mechanism to explain this is -

1. active pharmacophore of the bactericidal antibiotic, remains bound to antibodies while they are intracellular.

2. antibiotics are always produced in inactive forms, and get activated by the enzymatic action of the target cell

3. microorganisms export the antibiotic, using efflux pumps, as soon as it exceeds a certain intracellular concentration.
4 antibiotics are made in parts, and are assembled after being transported to the extracellufar environment.

Options :



878270179465. 1
878270179466. 2
878270179467. 3

878270179468. 4

Question Number : 57 Question Id : 87827045657 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179465. 1
878270179466. 2
878270179467. 3

878270179468. 4

Question Number : 58 Question Id : 87827045658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A student was asked to clone a DNA fragment, flanked by BamHI (GGATCC) sites into a vector, cut with Bglll (AGATCT).
The cloning was successful, as these two restriction enzymes are known to create compatible sites. Based on this, what will
be the restriction site configurations of these two enzymes (indicates the point of enzymatic cleavage).

1. GIGATCC and AGATC/T
2. GIGATCC and AIGATCT
3. GGATC/C and AIGATCT
4. GGATC/C and AGAITCT

Options :

878270179469. 1
878270179470. 2
878270179471.3

878270179472. 4

Question Number : 58 Question Id : 87827045658 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& B @ Bam HI (GGATCC) el 9 iR 1@ ST W8 @1 Bglll (AGATC) & T B1CE U® daey 1 & 3 o [
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1. GIGATCC 3R AGATCIT
2. GIGATCC &R AGATCT
3. GGATC/C R AGATCT
4. GGATC/C R AGATCT

Options:

878270179469. 1
878270179470. 2
878270179471.3

878270179472. 4



Question Number : 59 Question Id : 87827045659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During gastrulation in Xenopus frog, the blastocoel

1. becomes the gut

2. Is filled with endodermal cells and disappears

3. Is filled with mesoderm and disappears

4 is displaced, and its onginal location becomes an endoderm lined cavity

Options :

878270179473. 1
878270179474. 2
878270179475. 3

878270179476. 4

Question Number : 59 Question Id : 87827045659 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179473. 1
878270179474. 2
878270179475. 3

878270179476. 4



Question Number : 60 Question Id : 87827045660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following statements are with reference to oogonia. Which of these is incorrect?

1. Commeon fate of cogonia is death by apoptosis.

2. Oogonia are able to undergo mitotic division.

3. Number of cogonia grows especially during puberty.
4 Qogonia are diploid cells.

Options:

878270179477. 1
878270179478. 2
878270179479. 3

878270179480. 4

Question Number : 60 Question Id : 87827045660 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179477. 1
878270179478. 2
878270179479. 3

878270179480. 4



Question Number : 61 Question Id : 87827045661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following is the list of steps, involved in the transfer of bacterial DNA by generalized transduction. Which option
represents the correct sequence of steps ?

(A). Packaging of host genomic DNA fragment, into P1 phage head.

(B). Injection of DNA of transducing particle, into bacterial host.

(C). Injection of P1 phage DNA, into bacterial host.

(D). Release of fransducing particle, into bacterial host

(E). Fragmentation of host genomic DNA, by phage-encoded endonuclease.

Choose the correct answer from the options given below:

Options:

878270179481. 1
878270179482. 2
878270179483. 3

878270179484. 4

Question Number : 61 Question Id : 87827045661 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179481. 1
878270179482. 2
878270179483. 3

878270179484. 4

Question Number : 62 Question Id : 87827045662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The following is the list of steps involved in cloning of a gene.
Which option represents the correct sequence of the process ?
(A). Transformation with blue and white selection.

(B). RFLP analysis.

(C). Isolation of plasmid DNA.

(D). Ligation of gene, into TA-cloning vector.

(E). Amplification of gene by PCR, using Taq DNA polymerase.

Choose the correct answer from the options given below:

1.(E), (D), (C), (B), (A).

2. (E), (B). (D), (C), (A).

3. (C), (B), (D). (B), (A).

4. (C), (B), (D). (A), (E).
Options :

878270179485. 1
878270179486. 2
878270179487. 3

878270179488. 4

Question Number : 62 Question Id : 87827045662 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(B) RFLP faemm|
(C) IS DNA BT JydarT|

(D) TA-GGIT Ha® | o @1 3§

(E) Taq DNA TIGiALS! @1 SUGH Xt PCR §RI o @1 Wt |
T T T famedl H © 9El I |

E
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), (A).

(A)
(C), (A).
(A)
(E)

(
B), (D

=
[

C)
(B)
(A)

C
C)

=
)

A).

(
|
(
L E}

(D),
(E), (D),
. (B), (D),
Options :
878270179485. 1
878270179486. 2
878270179487. 3

878270179488. 4

Question Number : 63 Question Id : 87827045663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-lI

Mammalian order

Examples

(A). Perissodactyla

(). Porcupines

(B). Primates

(II). Lemurs

(C). Logomorpha

(IIl}). Rhinoceroses

(D). Rodentia (IV). Hares

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV}

2. (A) - (1), (B) - (IV), (C) - (W), (D) - (1)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (N, (B) - (1), (C) - (IV), (D) - (1)
Options :

878270179489. 1
878270179490. 2
878270179491. 3

878270179492. 4

Question Number : 63 Question Id : 87827045663 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-l & Ty -1l BT e i

it gt
YR B0 ELARELI

(a) ofcasiEe (1) drrduTET
(B) WrsHeH () AR

(C) TIHERT (1) TS
(D) TS (IV) SIE1& (Hares)
TR e T @ 9 R O

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
2. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
3. (A)- (), (B) - (1), (C) - (IV), (D) - (1)
4 (A)- (), (B) - (1), (C) - (IM), (D) - (1)

Options:

878270179489. 1
878270179490. 2
878270179491. 3

878270179492. 4

Question Number : 64 Question Id : 87827045664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-l

(Taxonomic Unit)

(Representative Example)

(A). Brachiopods

(). Proboscis worms

(B). Ctenophores

(II). Lamp shells

(C). Nemertea

(II1). Comb jellies

(D). Onychophorans

(IV). Velvet worms

Choose the correct answer from the options given below:

1. (A)- (1), (B) - (1),

2. (A) - (I, (B) - (11,

3. (A) - (1, (B) - (1),

4. (A) - (I, (B) - (1),
Options :

878270179493. 1
878270179494. 2
878270179495. 3
878270179496. 4

(C)- (I, (D) - (IV)
(C) - (IV), (D) - (1)
(C) - (IV), (D) - (1)
(C)- (), (D) - (V)

Question Number : 64 Question Id : 87827045664 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G- FT -1 F e S

it -
(@ffavor o) it Igem)
(A) Sfmadza (1) wEifey HH
(B) THES (1) &G 3raw
(C) JAfEar (1l) HrF St
(D) HBIBH (IV) dede Hi
-Td feu 710 famedi § § 981 Ik I |
1. (A) - (1), (B) - (lil), {C} (I1), {D} (IV)
2. (A)- (1), {B} (1), ( ‘*f (D)- (D
3. (A)-(In), (B) - (1), ( 1 ). (D) - ()
4. (A)- (1), (B) - (1), ( {li-{D}-{lV}
Options:

878270179493. 1
878270179494. 2
878270179495. 3

878270179496. 4

Question Number : 65 Question Id : 87827045665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are INCORRECT?

(A). Many animals with protostome development, undergo spiral cleavage.
(B). Flat worms exhibit, radial symmetry

(C). Ray-finned fishes are also called Sarcopterygians.

(D). Lophophore is a crown of ciliated tentacles, that function in feeding
Choose the correct answer from the options given below:

1. (A) and (D) only.
2. (B) and (C) only.
3. (B), (C) and (D) only
4. (A) and (C) only.

Options :

878270179497. 1
878270179498. 2
878270179499. 3

878270179500. 4

Question Number : 65 Question Id : 87827045665 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofafgd ¥ O ©H-91 T4 39" 572

(A) UIeRe fa®m are & wioll ftd faga T TeRd 8|

(B) TU B 3R THETA Uelfd & &

(C) s Aafodl & geipRivaa f e vl
(D) TRIGR vl veAfiesa wefe 8 ot @F & &9 34 &
I feu e fasedf § © T8 SR |

1.%ad (A) 3R (D)
2 @dd (B) 3R (C)
3. @dd (B), (C) 3R (D)
4. @ad (A) AR (C)

Options :

878270179497. 1
878270179498. 2
878270179499. 3

878270179500. 4

Question Number : 66 Question Id : 87827045666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bactena produce an enzyme methylase, which mainly play a role in -

1. modification of DNA

2. cutting of DNA

3. repair of DNA

4 rearrangement of DNA

Options:
878270179501. 1

878270179502. 2



878270179503. 3

878270179504. 4

Question Number : 66 Question Id : 87827045666 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SARIRAl U ToTSH FHUTSeis & Sdie &d &, ol % 0 U YHe FHd § -

2IUAU (DNA)HT G
ST BT Bl
SITU Bl A3 T
Bl el ARI I

B T B

Options:

878270179501. 1
878270179502. 2
878270179503. 3

878270179504. 4

Question Number : 67 Question Id : 87827045667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dung bestles, live in regions where cattle graze, quickly burying and recycling cattle droppings. Because of the dung
beetle's activities, breeding habitats for disease carrying flies are reduced, and the plants upon which cattle feed are
nourished. The relationship between the dung beetle's, and disease carrying flies is a type of -

1. mutualism

2. commensalism

3. Intraspecific competition
4 interspecific competition

Options :



878270179505. 1
878270179506. 2
878270179507. 3

878270179508. 4

Question Number : 67 Question Id : 87827045667 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
TR 47T 1 &1 1 ¥ & ) H¥0 X g, 3 X191 & ! o 7 1 G & 3N GaTdyl % | TR 4 )

Tefafiat & BRY, T T AT o JorT ST A 1 ST, AR FofT el ) ] 1T 5% ¢, 3701 IS0 o o
TR 4T 31 X G Hidad & §1d Ut T TR o -

1, FEuEdT
) TeHiforT
3. SR e |
4. 3 ST et |

Options :

878270179505. 1
878270179506. 2
878270179507. 3

878270179508. 4

Question Number : 68 Question Id : 87827045668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Being a medical science student, in your very first anatomical investigation of a female body, arrange the order of
appeamce of following organs of immunological importance, in anterior to posterior direction in the body.

(A). Thymus

(B). Adenoids

(C). Peyer's patches

(D). Spleen

Choose the correct answer from the options given below:

A), (B), (C

( (D)
D). (
(A), (

{

)

),(C)
),(C)
), (A)

l
h
l
h

A)
C), (B),

D
D

A
(B
(B
g
Options :

878270179509. 1
878270179510. 2
878270179511.3

878270179512. 4

Question Number : 68 Question Id : 87827045668 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(A) A

Options :

878270179509. 1
878270179510. 2
878270179511. 3

878270179512. 4

Question Number : 69 Question Id : 87827045669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following molecule is NOT found in the Eosinophilic granule ?

1. Ribonucleases
2. Cytokines

3. Chemokines
4 Histamine

Options:
878270179513. 1

878270179514. 2



878270179515. 3
878270179516. 4

Question Number : 69 Question Id : 87827045669 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=

fgfafad o O 4 91 2] 33fHIb e J=ga o T8t urar o 2
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Options:

878270179513. 1
878270179514. 2
878270179515. 3

878270179516. 4

Question Number : 70 Question Id : 87827045670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correlation between the observed and predicted values of the outcome variable is known as -

1. Coefficient of determination (R2)
2. Multiple correlation coefficient

3. Cox regression

4 Multiple linear regression

Options :
878270179517. 1

878270179518. 2



878270179519. 3

878270179520. 4

Question Number : 70 Question Id : 87827045670 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R & Haellid AR TGHHIT Hedl & did Ggaidy & U F YR BI -1 SiIdl § -

1. TEREHTH &1 7UI® (R2)
2. 9g YgHdt Uld

3. BI99 gUIYEU(REEE)

4. §g JGD GHIYG

-

Options:

878270179517. 1
878270179518. 2
878270179519. 3

878270179520. 4

Question Number : 71 Question Id : 87827045671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The square root of the variance is known as -

- Standard Error (SE)

~ Standard deviation (SD)

_ Standardized coefficients (SC)
Protective odds ratio

AW N =

Options :
878270179521. 1

878270179522. 2



878270179523. 3

878270179524. 4

Question Number : 71 Question Id : 87827045671 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR DI ¥ S Sl @ -

1. AF® Fi< (SE)

2. {FS fdga (SD)

3. HH®Igd T0N® (SC)

4 RETHD ( fauH) g U

Options:

878270179521. 1
878270179522. 2
878270179523. 3

878270179524. 4

Question Number : 72 Question Id : 87827045672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A protein coding gene in the mouse was mutated, such that the resultant protein was nonfunctional. The phenotypic effect
of the mutation was observed in homozygous mutant mice, in heterozygous mice that inherited the mutation from the
mother and in heterozygous mice, that inherited the mutation from the father

This suggest that -

1.the gene is imprinted.

2. the mutation acts as a dominant negative

3. the gene possibly has more than two alleles
4 the gene is X-linked.



Options :

878270179525. 1
878270179526. 2
878270179527. 3

878270179528. 4

Question Number : 72 Question Id : 87827045672 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e B U TIEH BIfeT o 1 38 e § Saivatcia fodn a1 fo TRl e sifavariier 1| Seafvae a BHieru T4
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1 o fafga B

2 NG U JHId TERES & €0 8 o1 6%l o
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4 WHX- T gl

Options :

878270179525. 1
878270179526. 2
878270179527.3
878270179528. 4

Question Number : 73 Question Id : 87827045673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a sucrose density gradient, what is the order of organelle sedimentation from lower to higher concentration of sucrose?

1. Golgi, smooth endoplasmic reficulum, rough endoplasmic reticulum
2. Smooth endoplasmic reticulum, Golgi, rough endoplasmic reticulum.
3. Golgi, rough endoplasmic reticulum, smooth endoplasmic reticulum
4. Rough endoplasmic reticulum, smooth endoplasmic reticulum, Golgi.

Options :

878270179529. 1
878270179530. 2
878270179531. 3

878270179532. 4

Question Number : 73 Question Id : 87827045673 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS U-Icd HGUT H, b 1ol B! 9 Tl U I Tigell T 37T e B pH &l 52

1. 7T, FgaHl Sidsad ST | GRed sfasa Sl |
2. Tl Sfciged! el T, TRe Hewad! Siiferdl|
3. 7, ERed Sdsadl Sfcil, el dsed sifed|
4. G Hdwad! Sfca!, fawb-t sidsadl il |

Options:

878270179529. 1
878270179530. 2
878270179531. 3

878270179532. 4

Question Number : 74 Question Id : 87827045674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Select the correct statement about the membrane transport -
(A). Channel proteins form open pores, through which suitably sized molecules/ions can cross the membrane.

(B). Carrier proteins selectively bind specific molecules, and transport them across the membrane by undergoing a
conformation change.

(C). Transport of molecules across membranes, through channel proteins and carrier proteins, always involves active
fransport.

(D). Small uncharged molecules can diffuse freely, through the phospholipid bilayers.
Choose the correct answer from the options given below:

1.(A)and (B) only

2.(A), (B) and (C) only.
3. (A), (B) and (D) only.
4.(B), (C)and (D) only

Options :

878270179533. 1
878270179534. 2
878270179535. 3
878270179536. 4

Question Number : 74 Question Id : 87827045674 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3 feg T st H A W8 SR

1. %94 (A) 3R (B)

2 &d (A), (B) AR (C)
3. %ad (A), (B) AR (D)
4 &ad (B), (C) IR (D)

Options :

878270179533. 1
878270179534. 2
878270179535. 3

878270179536. 4

Question Number : 75 Question Id : 87827045675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Capacitation is a process in which the -

1. glycoprotein layer, over the acrosome is dissolved.
2. sperm penetrates the zona pellucida

3. tail of the sperm is activated.

4 tail of the sperm Is inactivated.

Options:

878270179537. 1
878270179538. 2
878270179539. 3



878270179540. 4

Question Number : 75 Question Id : 87827045675 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270179537. 1
878270179538. 2
878270179539. 3

878270179540. 4



